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Exponents, Simplifying Radicals, FOIL Warm-up.

Simplify. Your answers should have no negative exponents.
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3. Multiply

(2x+3)(3x-1)

4. Multiply

(2x%-3x+4)(4x+1)

5. Simplify.

J/180y°®




Name: l/\w Date: v
Exponent&, Simplifying Radicals, FOIL Warm-up. -

Simplify. Your answers should have no negative exponents. S

x1z
1. x7y~4z°x ™3 ~ yH
35
-2 .
- _ ) —
3x5y~8 % =t 4 L'y
18y y
V78t oy
- bx™+7x -3
3. Multiply X -
(2x+3)(3x-1)
lox*-2x +ax-3
CLT L X +7x-3
: 8 3 2
4. Multiply x = 10x $13x+4

(2x2-3x+4)(4x+1)
3
Bx aax* —1ax*-2x +1Lx ++

3
Fx —lox  +13x +4

5\ \‘S\%D @qm @ korg -




